 EQ x\s\up8(2)=3-2x 
 EQ x\s\up8(2)+2x-3=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=2\s\up8(2)-4·1\b(-3)=16 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(-2-4;2·1)=-3 ; EQ  x\s\do8(2)=\f(-2+4;2·1)=1 
ответ:  EQ x=-3\;x=1 .
 EQ 2-x=x\s\up8(2) 
 EQ 2-x-x\s\up8(2)=0 
 EQ x\s\up8(2)+x-2=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=1\s\up8(2)-4·1\b(-2)=9 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(-1-3;2·1)=-2 ; EQ  x\s\do8(2)=\f(-1+3;2·1)=1 
ответ:  EQ x=-2\;x=1 .

 EQ x\s\up8(2)=-3x+4 
 EQ x\s\up8(2)+3x-4=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=3\s\up8(2)-4·1\b(-4)=25 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(-3-5;2·1)=-4 ; EQ  x\s\do8(2)=\f(-3+5;2·1)=1 
 ответ:  EQ x=-4\;x=1 .

 EQ -x\s\up8(2)=-2-x 
 EQ -x\s\up8(2)+2+x=0 
 EQ x\s\up8(2)-x-2=0 
Находим дискриминант.

 EQ D=b\s\up8(2)-4ac=\b(-1)\s\up8(2)-4·1\b(-2)=9 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(1-3;2·1)=-1 ; EQ  x\s\do8(2)=\f(1+3;2·1)=2 
ответ:  EQ x=-1\;x=2 .

 EQ x\s\up8(2)=4x 
 EQ x\s\up8(2)-4x=0 
Выносим общий множитель.

 EQ x\b(x-4)=0 
ответ:  EQ x=0\;x=4 .

 EQ -x\s\up8(2)=-4x 
Перенесем все в левую часть.

 EQ -x\s\up8(2)+4x=0 
Изменим знаки выражений на противоположные.

 EQ x\s\up8(2)-4x=0 
Выносим общий множитель.

 EQ x\b(x-4)=0 
 ответ:  EQ x=0\;x=4 .

